

$$\Rightarrow u(x) = c_0 + c_1 x - \int_0^x F(y) dy$$

Oritt, int :

$$\int_0^x F(y) dy = \int_0^x y F(y) - \int_0^x y F'(y) dy$$

$$= x F(x) - \int_0^x y f(y) dy$$

$$= x \int_0^x f(y) dy - \int_0^x y f(y) dy$$

$$= \int_0^x (x-y) f(y) dy \quad \text{Sies:}$$

$$u(x) = c_0 + c_1 x - \int_0^x (x-y) f(y) dy$$

$$0 = u(0) = c_0$$

$$0 = u(1) = c_1 - \int_0^1 (1-y) f(y) dy$$

$$\Rightarrow c_1 = \int_0^1 (1-y) f(y) dy$$

Rathaisa sardam sies mutoon :

$$u(x) = \underbrace{\int_0^1 (1-y) f(y) dy}_x - \int_0^x (x-y) f(y) dy$$

$$= \int_0^x \underbrace{(x(1-y) - (x-y))}_{y(1-x)} f(y) dy + \int_x^1 x(1-y) f(y) dy$$